
10309

10025

10265 10252

10225B

3 x 10236

10208

10207

10264
10229

10262

10263

10255
10267

2 x 10143
2 x 10142

10264

10228

10262

10208

10207

10126

10125

10230

3 x 10219

10226 x
10045B

90044: DuoGen-2 & DuoGen-3 air drive
Part
Code Description Quantity

10255 Air axle large 1
10262 Shaft seal, 10x19x7 2
10263 Roller bearing, TAFI102216 2
10229A Zinc gear machined 1
10228A Acetal gear machined 1
10264 Bearing, thrust, 51100 2
10208 Collar, 10 x 16.5mm 316

stainless 2

10207 Screw, socket set, M4 x 16 cone,
A4 2

10225B Air hub male with ring,
machined, annodised 1

10265 Circlip, 35mm internal, stainless 1
10309 Air Tenon large 1
10025 Pin, grooved, 4 x 16mm,

DIN1473, A2, full groove 1

10236 Socket set screw M5 x 12 cup
point A2 3

10219 Socket set screw M5 x 10 cone
point A2 3

10230 Air drive shaft element, large 1
10252 Bearing 6300-2RS 1
10125 Ball bearings 10 x 26 x 8 Rubber

shield 1

10126 Circlip, 26mm internal, stainless 1
10267 Air drive cover, large 1
10142 Screw, M4 x 10 button hex

socket head A4 2

10143 Washer M4, form A, A4 2
10045B Air hub female machined

anodised 1

10226 Spring plunger M8 2

90044: DuoGen-2 & DuoGen-3 air drive

www.eclectic-energy.co.uk


